Pesel kolokwium| zad. 1| =zad.2| zad. 3| zad.4| egzamin | suma kol+egz | prop oceny co dalej
§Td 88123000499 20 5 4 5 5 19 39 celujgcy
T|Pr] 88103004477 19,5 5 3 4 5 17 36,5 5
MKg 88112504566 17,5 3 3 2 5 13 30,5 45
P4 88101610777 15 0 5 5 5 15 30 45
K Kg 88110109305 16 2 3 4 5 14 30 45
KB4 88112112859 10 5 5 3 5 18 28 4,5
P4 88081802416 13 2 2 2 4 10 23 3
VlJal 87090504863 17,5 3 0 0 3 20,5 ustny 9 I
VIKr| 88052405998 7,5 2,5 5 4 1 12,5 20 ustny 16 1|
L{M{ 88082103837 10 1 5 0 2 8 18 ustny 9 Il
TIM{ 274811 10 0 2 0 4 6 16 ustny 16 Il
HJal 87121803394 10 0 2 0 2 4 14 ustny 16 1l
KM4 88052801633 8 0 3 2,5 1 6,5 14,5 poprawkowa
£|Mif 88092607974 9 0 3 2 5 14 poprawkowa
MP4 88071001913 6,5 1 0 3 0 4 10,5 poprawkowa
KA 88091200826 7 0 0 0 0 0 7 nie zal.
Zt U 88060803775 6 0 0 0 0 0 6 nie zal.
KAd 88081000234 3,5 0 0 0 0 0 3,5 nie zal.




